FRERHRRETHE FRHR

B RI74E05 5208 HRIRFEHE 273, 600kg
Hx REHEAH 234, 100kg
F&E HRFTHES TR AE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =1E B =&

EWZ A 25,000 |&Y 0 — — —
A% ER 3| FEE 10kg 25,000 1,404 — 972

ZA LA 10,000 |[&Y 0 __ __ —_
X ER 5| FHEE 10kg 10, 000 —| 3,024 —

(< &L 7,000 |&Y 0 — — —
A% ER 3| B3 12kg 7,000{ 1,296 — 648

FrRY 23,000 |&Y 0 — — —
X ER 5| B 10kg 23,000| 1,296 — 648

F5NAZES 5,800 |€Y 0 _ __ ___
A% ER 3| N 200 g 5, 800 108 — 86

h&E 9,500 |&Y 0 — — —
Xt ER 5| N bke 9,500{ 2,376 —1{ 1,188

(25 3,000 |[€Y 0 _ __ ___
A% ER 3| N 100 g 3,000 — 65 —

L& R 20,000 |&Y 0 __ __ —_
Xt ER 5| /37! 10kg 20,000 1,944 —1 1,728

EpSY 6,000 |t Y 0 _ __ ___
A% ER 3| N bkg 6, 000 —| 1,944 —
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B RI74E05 5208 HRIRFEHE 273, 600kg
g IRFEEHESET 234, 100kg
F&E IRFEH = R AHE fnig FEH Zik Bz [RFEHE HRFcE4E
(kg) (kg) =1{E HE ={E

By 5,000 |€Y 0 — — —
A%t ER 3| =Rl 350g 5, 000 — 173 —
k< b 6,000 |&Y 0 — — —
A%t ER 5| N 4kg 6, 000 —| 1,620 —
E—< > 3,000 |[#Y 0 — — —
A%t ER 3| 5/ 3] 150 g 3,000 108 — 97
[FhiL & 12,000 |[&Y 0 — — —
A%t ER 5| RIEE 10kg 12,000 —| 3,024 —
ERE 29,000 €Y AR 20kg 4, 000 —| 2,700 —
A%t ER 3| N 20kg 25, 000 —| 3,672 —
ELUMV=IT 500 |&Y 0 — — —
A%t ER 5| AR 100 g 500 130 — 65
A 5,000 |€Y 0 — — —
A%t ER 3| N 500 g 5, 000 — 140 —
ZEOH 3,000 |€Y 0 _ __ —_
A%t ER 5| AR 200 g 3,000 43 — 22
ZIES 1,000 |[#Y 0 — — —
A%t ER 3| N 4kg 1,000 —| 2,700 —
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2Rl 5% 213, 600kg

Hx fR5e 8= 234, 100kg
F&E RFEHMELT | TEAE B |REHE

(kg) (kg)

o k= 0 |&Y 0
HAXTE S| 0
L AEL 1,000 &Y 0
HE*TE S| 190 g 1,000
AZDE=T 1,300 |[&Y 0
Bt ER5| 200 g 1,300
G1)—2TF RIND 1,000 &Y 0
HE*TE S| 100 g 1,000
SE 0 |[EY 0
HAXTE S| 0
SPZAED 0 (&Y 0
FEXTEL S 0
H=——LA R 1,000 |&UY 0
Bt ER5| 4kg 1,000
Sl Nl 3,000 |[&#Y 0
HE*TE S| 200 g 3,000
ES58A2L 0 |[EY 0
HAXTE S| 0




FRERHRRETHE FRHR

S/I7E05520H N bt 273 600kg
Fx IREHESE 234, 100kg
F&E IRFEMEET | REAE FRiE FEH Fihk Bir |REHRE AR5t %8

(kg) (kg) BiE | hiE | RE
Jowyal)— 3,000 (&Y 0 — — —
HAxTERS| HF N bkg 3,000 -—| 3,240 -—
T D EFx 50,000 |&Ai& — 90, 000 -— -— S
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HRIRFEHE 2173, 600kg
R=E IR ESE 34, 500kg
EX1= BREHER | REAHZE mig T Eh = By |BREHE BRSE& %R
(kg) (kg) =B HE ZiE

HMA 500 |&Y 0 ——- — —-
X EE| INTIR KRR 350 g 500 ——- 864 —-
YA 500 | Y 0 — — —
RV E] AL gl 10kg 500 —| 7,020 ——
Wws 2 10,000 |&Y 0 _ __ __
HAXTE S| HARE 210 g 10, 000 — 270 —
gL—727)IL—vY 2,000 |&Y 0 — -— —
RV E] m77Yh 17kg 2,000 ——| 6,480 ——
NFF 3,000 |&Y 0 ——- — —-
X EE| J4JEY 13kg 3,000 3,888 -—| 3,240
LEY 500 | Y 0 — — —
RV E] TAUN 17kg 500 ——| 7,560 ——
A0y 4,500 |&Y 0 ——- — —-
X EE| 7—ILA BRI 2 Okg 4, 500 ——| 21,600 —-

ENAY: 500 |&UY 0 —- — —
RV E] REARR 15kg 500 ——| 7,560 ——

FLoo 1,000 &Y 0 - - -
X EE| TAUh 17kg 1, 000 ——| 8,640 —-
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PHTFRALE BIRFNE 273, 600kg
RR RS E A 34, 500kg
TRE REMEE | TEAE o TEH =% | B |HENE BRE 24

(kg) (kg) =iE H{E ZiE
KA T 9T 2.000 |&Y ol — - =
ARSI JAUED toke | 2000 —| 4320 «—
ZOMRE 10,000 |2 - ool — O —
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{AERE S E 273, 600kg
Z Dt REHE AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




